EDUQAS GCSE History

Sample responses

Component 1 – British Study in Depth
1B.The Elizabethan Age, 1558-1603

Q.4

Explain the connections between TWO of the following that are to do with Elizabethan government.
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· Privy Council

· Parliament

· Taxation

· Freedom of speech

Issues chosen Parliament and freedom of speech

Candidate A
Parliament was not as important in Elizabethan times as it is today. It was only called when the Queen wanted, which was about twelve to thirteen times during her long reign. Elizabeth needed Parliament to raise money which she was always short of as only Parliament could collect taxes. They were also needed to pass laws to do with things such as the poor and threats against Elizabeth, which were major problems during the reign.

When Parliament did meet they were not allowed to talk about certain things. The Queen did not want them to discuss what type of religion the country should have or who she should marry. Parliament also wanted her to name her successor when she was too old to have children. Parliament however wanted more power and thought they should be able to talk about anything they wanted to. This was called freedom of speech and this is why it was connected to Parliament. They complained many times about their right to say what they wanted. For example, the MP Peter Wentworth always wanted to discuss religion but ended up in prison in the Tower of London. This shows that Elizabeth would not allow it and many times she just sent the MPs home when they tried to discuss these things. 
	AO 1(a+b)
	       /2  

	AO 2
	       /8

	Total
	      /10


Analysis

· Candidate has demonstrated reasonably good historical knowledge.
· Sufficient knowledge has been displayed to reach AO1 Band 2.

· The connection between the two issues is clearly identified.
· The historical context has been partially established; slightly greater development needed to achieve AO2 Band 4.

· For example - the differing definitions of free speech according to the Queen and Parliament; the importance of free speech to Puritan MPs; why the succession was important; more towns were becoming boroughs and therefore eligible to have MPs; reference to taxation and how Parliament threatened to withhold it unless they could discuss what they wanted.

AO1: Band 2 - Knowledge and understanding of the key issue in the question has been demonstrated.

AO2: Band 3 – Relevant connections between the chosen features have been established, set within the appropriate historical context.

AO1 – 2/2

AO2 – 6/8

Total 8/10
Candidate B

Issues chosen Parliament and taxation

Parliament and taxation are connected because the Queen could not collect taxes herself. Elizabeth needed the permission of Parliament to collect taxes and this was the main reason why she called Parliament, which was not very often. Elizabeth needed money to run her Royal Court and to fight wars and this is why Parliament was important. MPs sometimes threatened not to collect taxes if she did not allow them to talk about what they wanted. 
	AO 1(a+b)
	       /2  

	AO 2
	       /8

	Total
	      /10


Analysis

· Some basic knowledge has been demonstrated, showing understanding of the key issue.

· The candidate has attempted to show the connection between the chosen features with limited support.

AO1: Band 1 – Some basic knowledge and understanding displayed.

AO2: Band 2 – The candidate has begun to explain the connections between the chosen features.

AO1 – 1/2 

AO2 – 3/8

Total 4/10
Component 1 – Non-British Study in Depth
1G. Germany in Transition 1919-1939
Q.3 

Do the interpretations support the view that Hitler’s main foreign policy aim was to conquer land to the east of Germany? 
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Candidate A

Interpretation 1 says that Hitler’s aim was to create an empire and take land in Russia from the Russians. It also states that even when Germany was beaten and the day before he died he said Germany must gain more land in the east. Since Germany fought a huge war with Russia with many millions killed, this is probably true. This interpretation does therefore support the view that Hitler’s main aim was to conquer land in the east. It was written by an historian fifteen years after the war ended and the article was called ‘Hitler’s War Aims’. This suggests that the historian is writing with hindsight and has been able to research the topic with evidence that is quite recent. Since he was writing about Hitler’s aims it should be accurate.

The second interpretation does not really support the view that Hitler wanted land to the east of Germany. It says that Hitler wanted to get rid of the Treaty of Versailles which all Germans hated. It also says that he wanted to make Germany a great power again and to build up the German army which had been limited to 100,000 men in the Treaty of Versailles. The writer does not really know what Hitler’s aims were as he says ‘maybe’ he wanted to take land in the east and that ‘no one can tell’. The historian Alan Taylor is writing in a book on the origins of the war which suggests that this is not focused on Hitler’s aims but on why the war started. This is a more general book than the first and is not as focused on the main issue. This may not make it as reliable as the first interpretation.
I think that since Hitler always said he hated Communism, his aim was to conquer land to the east, called the ‘drive to the east’. Interpretation 1 is therefore the one that most supports the view. 
	AO 1 (b)
	        /4

	AO 4
	        /6

	Total
	       /10


Analysis
· Candidate has reached a judgement with regard to both interpretations, as well as an overall conclusion.
· Limited explanation of ‘why’ they differ, but hinted at.

· Explains how the interpretations differ.

· Some relevant contextual support e.g. ‘huge war’; ‘hated Communism’; ‘drive to the east’.

· However – answer is weak on authorship; generalised comments.

· No reference has been made to the audience.

· Limited focus on the medium i.e. ‘academic magazine’.

· No real development of the wider historical debate, but some understanding displayed.
AO1: Band 3 – Just constitutes detailed understanding of the key issue
AO4: Band 3 – No development of audience but a supported judgement is reached with some reference to the relevant historical context.
AO1 – 3/4

AO4 – 4/6

Total 7/10
Candidate B
The first view written by the historian Trevor-Roper says that Hitler wanted more land in the east, especially in Russia. He says this because during the war Germany invaded Russia and therefore this view is a correct one. The historian has probably researched the topic and is not biased. This does support the view that Hitler wanted to conquer land in the east.

The second view was written in 1961 just after the first one. This interpretation does not support the view because it says Hitler just wanted to make Germany great again. This is from a general book on the causes of the war and may not have been researched as well. It may not be as useful as the first interpretation since the historian may not have used sources that are focused on the main issue.

	AO 1 (b)
	        /4

	AO 4
	        /6

	Total
	       /10


Analysis

· A weak judgement is reached with very limited contextual support.
· Some references have been made to the content and authorship.
· The answer displays limited historical knowledge and understanding.
· The wider historical debate has not been addressed.
· The answer strays off the point by considering the issue of utility.

AO1: Band 1 – Generalised answer displaying limited understanding of the key issue.

AO4: Band 2 – Limited analysis of the different interpretations has taken place; some reference to content and authorship, supported by a weak judgement.

AO1: 1/4

AO4: 2/6

Total 3/10
